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7. As shown in the figure, it is known that point C is on the extension line (ZE4%) of the
diameter of circle O. CA istangent circle O at point A, and the bisector (3J25745)of

ZACB intersects AE and AB, points F, and D respectively, then ~ADF is . (A)
45° (B)50° (C)48° (D)40°
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.". ZAEB = /CAE + /ACE = /ABE +2/DCB

/NABE 1 > /BAE + ZABE + ZAEB =180° ° /ABE + /AEB =90°
.". ZABE + ZABE +2/DCB =90° * /ABE + /DCB = 45°
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...X+y:X+X+ZZ:90 Ui: >
X+z=45= Z/ADF

8. Put a 30-centimeter thin wooden stick into a lidless rectangular box with a length, width
and height of 8, 6, and 10 centimeters. What is the shortest number of centimeters for the
stick exposed outside the box? (A) 30-6v5 (B) 30-10v3 (C) 30-2V41 (D) 30-10v2
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. AB=vAD?+BD? =11a2 +121a2 = 132a = 2/33a = 233 x 235 _ 411

2. #0458 > OM LAB » ON LCD » ON=0M - #AB=95° ' BD=40" » AC=

<f > PR C
;’\ON =OM CD=AB > AB=CD =95°

AC =360-95x2-40=360-230=130
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..c=-4 .
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0=36a-4 ° a:1
9
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5. Let a, b be the two roots of x2+20x+1=0 and ¢, d be the two roots of x%-17x+1=0, then
the value of (a+c)(b+c)(a—d)(b—d) is .

<EWEE>#Y a, b 2 x? +20x+1= 0FYWH{EFR » ¢, d & x? —17x+1=0BYWI{EFR - HI
(@-+c)(b+c)(a—d)(b—d) HIfE A o

<fiEfT>
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a+b=-20> ab=1; c+d=17 > cd =1
(a+c)(b+c)(a—d)(b—d)=[ab+(a+b)c+c?J[ab—(a+b)d +d?]= (1-20c+c?)(L+20d +d?)
=1+20d +d? — 20c —400cd — 20cd % +¢? +20¢?d +c2d?
=d?+c%+2-400=(c+d)*>—400=17° —400=-111

6. Knowingthat m is an integer, then make the equation 2x>-5mx+2m? =5 have a total of
values of m which are integers.

<FEMEESTUHIM BEcdy » HIfTE)TH2 2x2 —5mx + 2m? = 575 —HR B B8y M Ay (E A ([ -
<fEffr>
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C3m—-p<3m+p H[EEE > 3m—p=-4~-10~-2~-20 I 3m+p=10-~4-20-2

m=+43 >~ 1 4 (F o
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64=256—-32a °> 32a=192 °* a=6
. OG2-0H’+GH? >0G =62 +82 =10
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y
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